
Question    
1. a. What is the name of this 

building? 
The Reichstag 1 

 b. Why was this building 
important to Germans? 

It was their parliament building. 1 

 C. How did this building burning 
help Hitler rise in power? 

Two points from: 
 
Hitler blamed the fire on Communists. / He 
used this to gain emergency powers. / He 
may have set the fire himself!  

2 

2. a.  What kind of building was this 
photo taken in? 

A prison 1 

 b. Explain how Hitler ended up in 
this place for 9 months. 

There should be mention to at least four of 
these points: 
 

 He tried to overthrow the 
government (in Munich) 

 He failed to take down the Munich 
government. 

 His troops were defeated. 
 He started a putsch in a Beer Hall. 
 He managed to persuade the judge 

at his trial to be on his side. 
 People (including the judge) 

supported his ideas. 
 

A second mark may be awarded for a point 
if it has added detailed explanation.  

4 

3.  a. What does Mein Kampf mean in 
English? 

My Struggle 1 

 b. Give four reasons that Hitler 
gave for hating Jewish people. 

Award marks any four of the following 
reasons.  
 

 They control all the money/are too 
rich 

  They’re communists. 
 They made Germany lose WW1. 
 They killed Jesus. 
 Other countries/people hate them. 
 They have been hated historically. 
 They ‘killed his mum.’ 
 They rejected his art. 

 
 
 
 
 
 
 
 

4 



 

 

Level 1 Describes some reasons for OR against the statement. 
 
Low quality of English – SpaG (Spelling, punctuation and grammar) 

1-3 

Level 2 Explains some reasons for AND against the statement. 
 
OR 
 
Describes some reasons from both sides of the statement. 
Talks about other factors than just the treaty, e.g. Mein Kampf, the 
Reichstag Fire, anti-Semitism etc.  
 
Comes to a basic conclusion as to whether the statement is true or not 
but this may not be explained.  
 
Good SPaG – some mistakes but not many.  

4-7 

Level 3 Complex explanations of arguments BOTH for and against the 
statement. 
 
Uses a range of factors other than the treaty (at least two others.) 
 
Comes to a clear, reasoned conclusion. 
 
Excellent SPaG with very few errors.  

8-10 

 

 

 

 

 

 

 

 

4  ‘The main cause for Hitler's rise 
to power was the Treaty of 
Versailles.’ Do you agree? 
Explain your answer. Aim to talk 
about the treaty and other 
factors that led to the Hitler's 
rise too. Be sure to come to a 
definite conclusion one way or 
the other. 

For this question, use the following best fit 
from the table below. 
 
 

 



When you have found a mark out of 24, use this grid to show what grade you have achieved: 

 

Marks Grade 
10 or less 2 

11-14 3 
15 4c 
16 4a 
17 5c 
18 5b 
19 5a 
20 6c 
21 6b 
22 6a 
23 7c 
24 7b 

 


